®collegebatch.con

=5
[
Series R4PSQ/4 SET~1
—U3 g
T 66/4/1
Roll NO f imsEEEsEsEsEsEsEEEEEEEEEEEEEEEEEEEEEEEEEEsEEEEEEEEEsEEEEEsEEEEEEEEEEEEEg

Lqfeneff Je-T Bl H IH-IEH Fi
{ g -8 T 3TavE T | ;

e /
(1)

(i1)

(iii)

(iv)

V)

Candidates must write the Q.P. Codeé
on the title page of the answer-book.

NOTE:

AT ST A b 38 -0 H qfgd 783 23 7 |

Please check that this question paper contains 23 printed pages.

HUAT e B Th 30 TH-TAH 34 TH F |

Please check that this question paper contains 34 questions.

TH-TF H glie g1 6l 3R U MU weH-1a i Fl el Iw-gfas & gE-Ts W
o |

Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

AT I 1 IR FTEA1 I A B Izt IRt T T 1 shHieh v ford |

Please write down the serial number of the question in the answer-
book before attempting it.

T4 TR I 96 % ¢ 15 fire o1 a3 fean w2 |y a9 1 foawor qats # 10.15
TS fohaT ST | 10,15 S & 10.30 o b wianef shaet 91— i Ut 3TR 39 a5
S o ITR-YfETehT T IS I T4l fore |

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
candidates will read the question paper only and will not write any answer
@ on the answer-book during this period.
TR J1ETTH E%E
BUSINESS STUDIES E%
fFaffea @& : 3 aue STIFTT 5% : 80
Time allowed : 3 hours Maximum Marks : 80

66/4//R4PSQ/21 [ERYIIN P.T.0.


https://www.collegebatch.com/exams?utm_source=pdf

" collegebatch.con

iz

[=ed
Wﬁ%{w:
R Y

(i)  FGFH-TTH 34 F7 & | @t 357 71 8

(ii)  TeE% Jo1 & 37 379 G FiHT 8 /|
(iii) IR Flere 7o fagar & e /
(iv) 3 371 & Fo41 & I 50 & 75 Feg] 7 1o7@ 71 =112 /
(v) 4 3H & FI F IT ATHT 150 J1Z1 F 7@ 5717 T30 |
(vi) 6 37H] & F¥1 & IR TTHT 200 5] § 7@ 17 =Tz |
(vii) Fe9% J97 & G YT & IR T GrY (7@ ST ey |

—

Toct Ik a1 | T SgUgR a1 HeTEal Td A1%d o @ -IH FaaE H 7 | § safy

H 1o gwrEATe | gig va ek & fofw a7 1ot forsh 7, Searel <At S qen §Sh
e 7 gfg e =mEd 2 | 1
e Tl T8 HISATH 3639 T8 T8 UTH ST 918d &

(A) Shfed @

(B) <™

(C) e

(D) Tt srfTes StRere

Freafefaa § @ arer & W & Ty 8 TeTd HUA 1 T HIT ; 1

(A) T TR YSYT TS § AT THehT b SHTT Wa o oy et 2 |

(B) e WillT YaEA W Ya-geh 3794 o & fore st it wate gen ghfeaa
HAE |

(C) I T J9 W G BRI SATThH T Wi yawaehi i auft miafafeei &
fote STeerE g 2 |

(D) 3= WHT TU SHaET o1 GHE (AT R Td GHS W 38 THTE & ft ITier
B E |

66/4/1/R4PSQ/21

»

QLOCELICLEOOLEEEECLROCELELOOCEEIECROCEEIEEEOOCEEIE


https://www.collegebatch.com/exams?utm_source=pdf

QELOCLLICLELUEERIEELOLLLLEEOOEEEIEEOLOCLLIOCLOCEEICCE)

@2 collegebatch con

[=]3 5]
[
General Instructions :
Read the following instructions very carefully and strictly follow them

(i) This question paper contains 34 questions. All questions are compulsory.
(it) Marks are indicated against each question.

(iii) Answers should be brief and to the point.

(iv) Answers to the questions carrying 3 marks may be from 50 to 75 words.
(v) Answers to the questions carrying 4 marks may be in about 150 words.
(vi) Answers to the questions carrying 6 marks may be in about 200 words.

(vii) Attempt all parts of a question together.

1. A multinational sweets and snacks company had been into catering
business for the last many years. To add to its prospects and to grow in
the long run, it wants to increase its sales volume, the number of products
and capital investment.
The organisational objective of management it seeks to achieve is : 1
(A) Survival
(B) Profit
(C) Growth
(D) Corporate Social responsibility
2. With respect to levels of management choose the incorrect statement from

the following : 1

(A) Operational level management is responsible for maintaining safety
standards in the organisation.

(B) At middle level management, managers ensure that their
department has the necessary personnel.

(C) Chief Executive officer at Top Level management is responsible for
all activities of first line managers.

(D) Top level management is responsible for all the activities of the
business and for its impact on the society.
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ToraE 311w WTH i 8 3R 98 forues gfd e 8§ | 1

ITUE HYH TS UlshaT o Tk 90 § gefRd g | Ffafgd @ 9 9w o
13|€T‘4|T'IEI"1:

(A) HH & TEEH a1 faaeE (B) fawmfieto
(C) haieal w1 futo (D) wiftrerR we fraifén deer wme

iz wfshan k1 98 =0T 2 Saf afe Tareeh! % yarEl 9 = i des | R
ST HehdT &1 ol HTeh! shl TN T AT | 1

(A) Trsared TRt = fruft
(B) aTEdtereh fsares s o1g
(C) amdfaes fsq1ed 1 Al & et aei foree ferveryor
(D) GERICH FHTFaTel LT

Frafaiaa oMt ot ufeu | 3 3rfiresT (A) 3T &R (R) 2 | = feu 7o fommedt o @ @&t
Terspea =1 =M Hifoe 1

TR (A) : o shi AT A fvta 6 g fufes gt 2 |
RO (R) : AT T T qd UG <] A1l § | foharn S 2 |

(A) AR (A) TUT SO (R) ST TcF 2 a1 BT (R) ARTHUT (A) I T&t =3
7|

(B) oM (A) a1 SRl (R) THI O 8, oifehT srom (R) 31fished (A) 61 ot
T 7E 2 |

(C) 3T (A) T B, AT R (R) ITH R |
(D) 3TRTRe (A) 3T B, AAfehd 0T (R) T3 § |
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‘Merely allocating work is not enough. Each individual should also know

o

who be has to take orders from and to whom he is accountable’. 1

The above statement is related to one of the steps of organising

process. Identify the step from the following :

(A) Identification and division of work

(B) Departmentalisation

(C) Assignment of duties

(D) Establishing authority and reporting relationship

>

1s the step in the controlling process where standards may have

to be revised in case the deviation can not be corrected through

managerial action. 1
(A) Setting Performance Standards

(B) Measurement of Actual performance

(C) Comparing Actual Performance with standards and analysing deviations

(D) Taking corrective action

o

Read the following statements Assertion (A) and Reason (R). Choose the

correct option from the given options.

Assertion (A) : Amount of Earnings is a major determinant of the

decision about dividend. 1
Reason (R) : Dividends are paid out of current and past earnings.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true but Reason (R) is false.
(D) Assertion (A) is false but Reason (R) is true.
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INIRCLICRERIEE] (B) forcfia gerzeran

(C) 3T (D) ot sifen

freferfgd 4 @ i o gerem o iy’ w6l fommar 78 2 7 1

(A) T R I a2 |

(B) FIeeH ye % s &R R Frsaifed g g |

(C) e =g gifvaa wtar 2 T foranati o forsure FoFTgar 81 @i |
(D) FeeE o § = 6 TR yaTRd BT § |

Frafafga 5 @ % 91 sHiT=Eis ST T TH A B 7 1

(A) IE TS I AR TEH AT & FIfh HHATT o STIER HT TG & TIHH
T ST Ehal & Hfeh b AT o fofu Toe fom g £ |

(B) fsaTfea st ST aTeft fSRmehetTd 1 Teh G YEH L I8 Ie341 ohl THTEUT ST hi
R A @R |

(C) Iz =l 6t el §qf® § gig wear 8, feh 308 378 TTe § 319 hl WiaHT
ST It & AT 3v5 Teh Sl I 1ol A ge shl STTHIT Y& LT ¢ |

(D) 398 ST 1 FRE W Ush A & FA1h T TG 31 {Heh H I3 JTEIEl
& 2 |

‘et T’ = i forei <k 37ieH < forgpel it T % T@e 1 YURY o & | 3T
TadA (FaEHTeH) ST % Teh W o &9 | I faermeri # 319 forapei o g T

Siea =1 i foram | 1
e foresped’ gRT IR | 7S T8 Yad deh1eh sl Tg=ig ;

(A) fosmmE (B) dgfthes fashar

(OMEEREERE (D) S Hh
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‘It is a process that allocates or directs funds available for investment into
their most productive instrument opportunity’. 1
This is known as :
(A) Financial planning (B) Financial Intermediation
(C) Allocative function (D) Capital budgeting

Which of the following is NOT a feature of ‘Directing’ function of
management ? 1

(A) Directing initiates Action.
(B) Directing takes place at every level of management.
(C) Directing ensures that activities are performed as per plans.

(D) Directing flows from top to bottom.

Which of the following is an advantage of Informal organisation ? 1

(A) It provides stability to the organisation because behaviour of
employees can be fairly predicted since there are specific rules to
guide them.

(B) It leads to effective accomplishment of goals by providing a
framework for the operations to be performed.

(C) It enhances the employee’s job satisfaction since it gives them a
sense of belongingness in the organisation and allows them to find
like minded people.

(D) It helps in avoiding duplication of efforts as there is no ambiguity in
the role that each member has to play.

‘Marbury biscuits’ launched its new range of oat cookies in three varieties.
They decided to distribute free samples of their biscuits in schools as a
part of their promotional campaign.

Identify the tool of promotion used by ‘Marbury Biscuits’ : 1
(A) Advertising (B) Personal Selling
(C) Sales Promotion (D) Public Relations

66/4/1/R4PSQ/21 P.T.0.
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(A) s (B) fEmH
(C) wH=d (D) Fewm

—
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. whiem-1 % feu e v wfavfa v fafme a1 o mif o1 iem-11 H feu e 37 sfivent

Y fiyem it 1
wict-1 wicm-11
A. | ufavfd STSR o weeer o1 gfneo Q) | el s
B. | ot & srfenrgw siferi w e (ii) | GeeATeHeh B
C. | 3Taie =UR W FR=Ew qun v =Eeni & | (i) | eyt &
FHR G AT
TEl forehed o1 ==F ST ;
(4) A(i); Bir); CQ) (B) A(@); B(i); C(ii)
(C)  Aii); B@); C(i) D) Aib); B(ii); C(1)

. 99 % IR § oareRt fIfiee 3 31 gt SR Rl U S S@e 1 YURY FoRAT | S
T o STTER AThT fetfig 3 geiet g o dehs 3T oierel W fmiar <1 19 ud v, am,
Ieared fafer, gty faf, srferan geu your amfe yem for 2 | 1
3YTh T T IURhT JTRISAR T JehTsT STel T R, T8 R :
(A) = HT IR (B) =1 1 IRIHR
(C) 3uIhT frem =t 3rferep) (D) & HI IATHR

HUA — I ; a1 TR TiRie giar @ #ifh I8 f=-fm <o 3 fe-fm g
2l 1

T — 11 : SHTEETes qaietur Jftmepiera: JTffTee giar @ =it swiosy shi weA13ti w1
QAT ST S8 S BT R |

Fr=fafaa 1 8wt foereq &1 wam Hifse

(A) H [T aUTHH [ FET 8 |

(B) SN I IS AATHYA [ AT 2 |

(C) TNHATTIE |

(D) i %Y 3EA B |
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1s the process by which a manager synchronises the activities of
different departments. 1
(A) Management (B) Planning
(C) Co-ordination (D) Directing

Match the functions of Securities and Exchange Board of India given in
Column-I with their headings given in Column-II : 1

Column-I Column-I1

A. | Training of intermediaries of securities | (i) | Regulatory function
markets

B. | Regulation of takeover bids by companies | (i1) | Protective function

C. | Controlling insider trading and imposing | (ii1) | Development function
penalties for such practices

Choose the correct alternative :
(A)  A(i); B(ii); C() (B) A@); B(ii); C(iii)
(C)  A@ii); B@); C@) (D) AQu); BGi); C@)

Lyka Ltd. launched its new range of herbal shampoos at the beginning of
the year. As per legal framework, Lyka Ltd. provided the name and
address of the manufacturer, the weight, manufacturing date, expiry date,
maximum retail price etc. on the package and label of the herbal
shampoo. 1

The consumer right highlighted above is :
(A) Right to choose (B) Right to be informed
(C) Right to consumer education (D) Right to safety

Statement — I : Business Environment is dynamic as it differs from
country to country. 1

Statement — II : Business Environment is largely uncertain as it is very
difficult to predict future happenings.

Choose the correct option from the following :

(A) Statement I is true and Statement II is false.
(B) Statement II is true and Statement I is false.
(C) Both the statements are true.

(D) Both the statements are false.

66/4/1/R4PSQ/21 P.T.0.
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(A) IE HH g YT Tohal Ugd rdeTawe i 3R o a1 g i e s=ai
3=t foreffr someft 6t 37X feem Jem et qem st STueH | GER T |

(B) 35! SATEAT ThR g TohU T 37 3UTF o &Y H hi ATd! & T g Hohd Ll & T
FHL AR ol e THI doh TaT AT bR TE1 feham ST el |

(C) 38 T I Y o &9 H @1 AT # |
(D) HU-RITEA 38k G =il ol ST forciia SuMet! # g feum Jem i 2 |

—
ot

HHTETd | TS 3791 T BT o W Ueh fUereR < =Edl ot | S Ush 5o cEreRt
TS 3T 3fond f-Ter T 1ot foehd Tfera ot oft 3R o9t smerfimpar o STgER
it o1 =3 fopa | 319 feopd TRt ot o ToTu fammer ST STavas 181 8 | 1

I eS¢ 1 ffeiferd ST T e 1 3TM 2 :
(A) T Fa e (B) ETHTISTh qTaol
(C) farferes Tarieron (D) renfiEh wRteRer

—
o

RIS Ueh SgUEE S § HRia oft | 36k fuamh 7 38 ST W % 40,500 H TH
THIEHH TGN H AT | 98 HiaTset %I 36k TSt + 310+ Toh i <1 g & @l o |
$ HTE T HIESA HF § THEITE 3¢9~ gH 1 | I19red = Tmiar & dvaeh wermfud i
1 95d IR JAE T wiferd 387 ®IE ST el fean | 3= uee | fmiar & foeg
Tereprerd s o1 fot foren | freprera frameor w1 g Suees 93 wret urret frshrra ot dehdt
8,82 1

PNIRESIESCIEZINE| (B) T¥ A
(C) UEHE wHleA (D) I=aH AR
17.  wfasfcli ot Sotagiiven ©9 § T@H i Tisha 2l 1
(A) ot weree (B) faffaehie
(C) 3 B (D) wiaefa 1 durgo
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Which of the following is NOT a feature of demonetisation ? 1
(A) It leads to creation of a less-cash or cash-less (free) economy 1i.e.

channeling more savings through the formal financial system and
Improving tax compliance.

(B) It is interpreted as a shift on the part of the government indicating
that tax evasion will no longer be tolerated or accepted.

(C) It 1is viewed as a tax administration measure.

(D) It led to tax administration channelising savings away from the
formal financial system.

Samaira and her friend, Sana wanted to watch a movie over the weekend.
They booked the movie tickets online and chose the seats as per their
preference at the click of a button at the desired movie hall. Now going to
theatre for booking of tickets is no longer required.

The dimension of business environment reflected in the above para is : 1
(A) Political environment (B) Social environment
(C) Legal environment (D) Technological environment

Payal was working in a Multinational company. Her father gifted her a
smart phone worth ¥ 40,500 on her birthday. The mobile phone was
purchased by her father from his friend’s shop. After few months, the
mobile phone started creating problems. Payal tried to contact the
manufacturer many times but he did not respond. Ultimately Payal
decided to file a complaint against the manufacturer. The appropriate
grievance redressal machinery where Payal can file a complaint is : 1

(A) District Forum/Commission (B) State Commission

(C) National Commission (D) Supreme Court

1s the process of holding securities in electronic form. 1
(A) Financial Intermediation (B) Dematerialisation
(C) Allocative function (D) Mobilisation of securities

© 66/4/1/R4PSQ/21 Page 11 P.T.0.
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18. 9 WAIEEeh o ITANT hleh hebl dTell gl I8 WTCH ®Ie, Tlfees w9 qel
e W o (vl SHe|m™ i =el W A1 | 38 Tshdl 3T WTfies T o a1
STATTHY fcee <6 IR H GAT | 98 STel J1eR0l <l 39 Sgfd hl TgaT- H 98 o7 ST 35eh!
w4 o fsare o e ugEn wehdt ot | 37 38 qid HRIATE I 3R 919 g 918 % g9l §
e, Y qUT &I Tl mior 3 & =™ U TIHANd 8 T | 35 TS SHehT
G 7 haet Siferd TaT 3fUq 1Y 3= i o A T | 1
I H SATIHTII TR o Hawd o (¥ g T o™ S T 2 a8 2
(A) IE Y hI TTHU I TETH LA T T8 A o AT ol ITH i o TFT ST 2 |
(B) I8 ®H ! Wall sl U89 Ud T0T Y Ugcd AdTaH] ¢ H T Hial 2 |
(C) I ITANT THIYAT =T Slgd i H TR hid ¢ |
(D) ¥ fore wa fifa fraftor & gemar 0 3 7ee Har g |

HUA — I : TS 1 I8 T TS0 FieA1 ST HehelT & TS A0 AT & | 1
A — I1 : ST 1 I8 AT & it vt feam i @ 2 Hieh Shagan ¢ |

Frfefaa o @ w2t foshea 1 == Hifvw

(A) S [T g aUTHH [[ TETE |

(B) SN I IS AATHYA [ AT 2 |

(C) TN HITIE |

(D) TFI YA IEA E |

—
©

DO
e

= e e fam Wk TR i Sidet 1 Yokt | 1
i

S fe@m T YehforT & fess o TX il g hifsu
(A) e dohs

(B) fgcfteres gehfomm

(C) dftaga & ferw Fpfim

(D) (&) 7= (B) Hi
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18. Rajat was carrying on a business of manufacturing plastic disposables like
plastic plates, plastic cups and plastic straws. He heard about the
upcoming ban on single use plastics. He was able to identify this external
environmental trend which could hinder his firm’s performance. So he
took action and shifted to manufacturing the plates, cups and straws from
bamboo and palm leaves. As a result, his business not only survived but
was able to generate profit.
The point of importance of Business Environment highlighted above
1S : 1
(A) It enables the firm to identify opportunities and getting the first
mover advantage.
(B) It helps the firm to identify threats and early warning signals.
(C) It helps in tapping useful resources.
(D) It helps in assisting in planning and policy formulation.

—
©

Statement — I : That part of a brand which can be spoken is called a
brand name. 1

Statement — II : That part of the brand which is given legal protection is
called Trademark.

Choose the correct option from the following :

(A) Statement I is true and Statement II is false.

(B) Statement II is true and Statement I is false.

(C) Both the statements are true.

(D) Both the statements are false.

20. The picture given below is the package of a perfume bottle : 1

Identify the level of packaging of the box shown above :
(A) Primary package

(B) Secondary packaging

(C) Transportation packaging

(D) Both (A) and (B)

66/4/1/R4PSQ/21 Page 13 P.T.0.
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& feufa ¥ gam . a1t g saraaries faem s awe s o | e dbf s 3
TR St | fafdrear s & g8 oft 3rd: IEH g i o STer-3Ter T afeqEt
1 STIARIT 3R STIH-3T9H FHTHS qlehi & ToTd SfEqal | T aret i o frferd e
AT R e | 39 7 TA-Wd § Hg1 Tgid 1 g2 foha, iy 3w’ ol uh
s i fafer 3 w9 4y fren Safer amsft 3 Tfafafer snearia dem fafa’ 1 s
TR | 3 STMUTA FTH 1 ITINT STH-3TTH 3G qlehi § fopal TR w0 afeqal §
T&- aTcl @R bt frfeqd o | 9%t @ | 3
3T g a3 2 fob 3o ufommdt <6t we s & foTe sme W 61 geraTyel e Sa T
IR S SAfh # f=-fr=r g g |
(a) I et o =i Jeee i Tehid ol T8=THT Td 36T Icoid 1T |
(b) SWIH TS Y URRAT I 39U HLd Y ITH (a) § TS TS T2 hl Tohfd
&1 el 1 ferwanat o1 Iect@ HIfT |

. (a) Trafafga s fociem gramef fofr &) geifad =@ a1e geni & &9 8 gagm 3
() e g |
(i) T S Uehg TaTE Terfa
reren
(b) ‘wufhes SWR TE ‘ffie SR | 3T o feheal 1 farg3Tl o1 Seeid HiTT | 3
TS T At ¥ B 9Tl IiaaH1 o ST W esTd §91T  fob o 3799 3ca1el, hrd Squemati
% SRR TUT ST ohl T i oh oY STEATISH IS h ThRI bl JH: 30 SHA 1T |
39 STt © Sgerd U SATSHTRIh TTEoT 3 |1 Tfd ! SHTC W o foTe Teh Sfiemieamse
fafamioft e goim s’ 1 et o ot & 39 sraam ° 7, 3 sniéfphine gefasa
ThA1h o TTEIH © Soifdeeh R o1 fafamior 3Ry & w1 fof form | eféfefime
3fTSTE o TR BIH o W1 & HEIHT Dl 379 HHATET b [ AT HITeT § R HET
o1 | 9 9TEd ¥ T 3 weft Shri=Rl adm™ 1 W 319 fsared O gur il 3T ufasy |
fopeft off T R % foTu G &1 W | 36 YohR A 7 haet 37U [ U Hived bl g H
A6 B 3T 370 Feure # off GUR HL TR | T8 L 8§ ol Wi 95d § o1 I
B | 3
(a) ST § IfEd SFGURON ! TGATHT ST U bl BRI sforeia qehrich
ST I HLd T 3TIT BT Sl &1 8 i T Tl Haf |
(b) IHE (a) H TgHI TS FTURIM & TS 1 B A {ohegl Uil 14l bl Seoid
HIT |
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Three friends, Aman, Ashish and Ashi after completing their MBA from a
reputed management institute, formed a start up named ‘Solutions’. The
goal of the start up was to make a social and environmental impact
through its services. ‘Solutions’ supports social business ideas to improve
living conditions in slums of Mumbai. As all the three friends are
specialised in social work, they adopted three different slums of Mumbai
and started educating the slum dwellers in their own creative manner.
Aman used ‘playway method’, Ashish used ‘music’ as a method of learning
while Ashi used ‘activity based method of learning’. They used basic
knowledge in their unique manner and were able to educate the slum
dwellers.

[\
=

It implies that skillful and personal application of acquired knowledge
varies from individual to individual in achieving desired results. 3
(a) Identify and state the nature of management discussed in the above
case.
(b) Quoting lines from the above para, state any two features of nature
of management identified in (a) above.

DO
RO

(a) Explain the following as factors affecting ‘Financing Decision’ : 3
(1) Fixed operating costs and
(1) Cash flow position of the company
OR
(b) State any three points of difference between ‘Primary Market’ and
‘Secondary Market’. 3

DO
b

The rapid changes having taken place in the society have created pressure
on organisations to readapt its products, type of jobs required and type of
skills necessary to complete these jobs. To keep up pace with the rapid
changes in the business environment, ‘Suzon cars’, a company
manufacturing automobiles for the last thirty years decided to start
manufacturing electric cars with Artificial Intelligence technology. With
the introduction of Artificial Intelligence, the company had to improve the
knowledge and skills of its employees. They wanted that all their
employees improve their performance on the current job and are prepared
for any intended job in future. This way they would not only be able to
increase their knowledge and skills but would also improve their
performance. By doing this, the organisation too would get various
benefits. 3
(a) Identify the concept discussed above which would help the employees
to do the job in a better way using Artificial Intelligence Technology.
(b) State any five benefits of the concept identified in (a) above to the
organisation.
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A
(b) T wisken o =ifeia ‘Sfew forg fmrr’ @ ‘aTaTe g Yerem’ i 9wesy |

(a) T o T3 w6 forgl am fomwaradi =1 Seor@ HifT |
YA
(b) T <ht frferRaa “arehfash smenati’ vt awEsT
() dHATh! fafre sregractt
(i) SR vTT e gE-ure i et i feaifen

. (2) = gfsran & frafafad =won = aveme

(i) = e
(i) USHTR HTETThR
e
(b) WG % PRI Tl o Tt o fohra| AR fog3Ti 1 Seeid ity |

. ST wueTstee fUset ueeg ant | 91 94 fafmtr o syaem 1 oY | 319 foiwsar

Y 3 A HY AN T 3T IO I1el IR W Frafor s o6 i off | aiomseasy
“TTT=T CUSTITSSIST skl STTCRN <hl S1g HI 317 715 3T 98 Ush A= oI1H IUTd 34 i 5
I B R |

T 3 HHATET Bt AN A foTT Hrt T 376 & F© I A HSl Hgd
1 YA ¢ 1 R foram | arfamg SR AT I, S 3T9e9 & 3TMUR W He §
HRIAT &, BT § TR €9 9 @ o= T | GHi 95 g9 Y Fifh 376 3= ST A
3T & &R | oot oft | wehd, T o st bl weh fafia s oft, 3T s ue o
favmT & 37593 < 9 § HRRG off, I T HT TS HHAR GEHR H TR fohaT T |

(a) ITT=dT UUTITS ST I 38k ShH=T ! bl feU 7T TIcHTET sl Ug=THT U THEST |

(b) T &% IMEYIHAl A Uga & AR 3T WAl o FHHanE i
SATETIRATS h! TG BNl & ITehT Iewid HIFT |
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24. (a) ‘Planning and controlling are inseparable twins of management’.
Explain with the help of any three points. 3
OR
(b) Explain ‘Critical point control’ and ‘Management by exception’ as
discussed in the controlling process. 3
25. (a) State any four features of directing function of management. 4
OR
(b) Explain the following ‘Semantic barriers’ to communication : 4
(1) Technical jargon
(i1) Body language and gesture decoding
26. (a) Explain the following steps of the selection process : 4

(1) Selection Tests
(i1) Employment Interview
OR

(b) State any four points of importance of ‘Staffing’ function of
management. 4

27. ‘Shanta Enterprises’ was in the business of manufacturing solar panels
for the last fifteen years. With their expertise now they were able to
manufacture good quality solar panels at lower cost. As a result ‘Shanta
Enterprises’ was flooded with orders and was able to generate a good
profit margin.

To motivate the employees the company decided to compensate some
of them for their hard work. Arvind and Yogesh, who were working on
contract basis, were absorbed permanently in the company. Both were
happy as now there was stability about their future income. Ekta, a
regular employee of the company, working as Research and Development
Head, was awarded the ‘Best Employee of the year Award’. 4

(a) Identify and explain the incentives given by Shanta Enterprises to
its employees.

(b) State the needs of the employees being met by such incentives as per
Maslow’s Need Hierarchy Theory.
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28. THh HO hHl HRENA Sl AETIHRATST P IWIG HH el HHTARIA Hehi
HHHATRT ¢ 4
(a) STAIRTAT T &R
(b)  TETEhIf

)
©

31 fe-ufafet & s & fore fafsr v fopomn i W iE | o) ugae S @ 38 3T
9 I ¢ & foTw 31 Ot 7 fafpa 2mer faw o1 Yehe frepren @t 3o wegd foran 6
IGHT IS HH AT | T TSR hl TS T 3T Ik I5i h! Sirdl bl df IR o 3weht
TS 60 UM o7 Fafeh foe@ & Uehe T T oiaet o STTIR $HHT I 100 T AT | 36
fomrtar & gueh foram 3T gk SR o fyrepra <t | fmfar 4 38 e firee 3o feam s wefn
1, Tor o5 forelt o1 ot 5ok IR # 7 warw | 7Y A fide @R wiehr 0 & #741  fean
3R 38 T =1 e frramor Toieh & qra o 78 | 4
(a) I TRufe o ueh 3uveht & &9 0 i3 3 59 g1 saxertaeat o1 fFeea foran 3aeht
Seei@ HITT |

(b) TH foreel &1 TRl 1 Soor@ shifoTT ST Ff31 =1 & ST ehett 2, Afe Suviear srererd
rpra T aumfaT A TR R |

w
e

Hag fofires goifdees aret & fore wenfera gt fafmtor 6t s wfirg e off | Ifs
Toifdeeh aTeAl 1\ §¢ W off 3Ta: Tt St <l Wi 1 QU I ha
fafiee =1 3ifres ISt 1 STTevasharl ot | hE fafides o fag Jerue 31ga 3 9o §

Top <ffoh IR TSR it T AT | 37: ST & 370 b HIASIHeh FITHA gRT 1Y ThAa fhy
ST | J&T SRR ST Welt Wifd augran o foh iy wshia ot 61 59 uhra & 7
HaeT BT W TS BT 0w E 3AfUg 38 foTe SRt @ ot oft streverear
Bhft | Rt oft 9 fod Serereh < T1y HEwa &1 T 3 wRaE yfafd va faf 91
feam Tl <1 SruTe Td BT 3T Bl A &9 @ fifera s feam |

I | =fd YSit g9 % 9@ ol TWIfd o aTl TR ekl Sl g TF 3T

3o @ HIfAT | 4
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28. Explain the following factors affecting the working capital requirements
of a company : 4

(a) Level of competition
(b) Inflation

DO
©

Nishi had gone to a grocery store to make routine purchases. On reaching
home, as she took out Binx tomato chips packet from the bag to give it to
her son, she felt that it was underweight. She checked its weight on the
kitchen weighing scale and found that it weighed 60 grams whereas the
label on the chips packet mentioned the weight of the packet as 100
grams. She approached the manufacturer and complained about it. The
manufacturer offered her a gift hamper and requested her not to disclose
this to anyone. Nishi refused to accept the gift hamper and took the issue

to a redressal agency.
(a) State two responsibilities discharged by Nishi, as a consumer, in the
above case.

(b) State any two reliefs which can be granted to Nishi, if the consumer

court is satisfied with the genuineness of the complaint. 4

w
e

Kaysons Ltd. was a reputed company manufacturing automotive parts for
electric vehicles. As the demand for the electric vehicles grew, Kaysons
Ltd. needed more capital to keep up with the demand for automotive
parts. Atul, the Finance Manager of Kaysons Ltd. suggested that the
company should raise funds through a public issue of shares as the stock
market was bullish. The Chief Executive Officer fully understood that this
process of raising funds would not only reduce the managements’ holding
in the company but would also require considerable expenditure. Even
then he agreed with the Finance Manager and the public issue of shares
was made complying with the guidelines of Securities and Exchange
Board of India.

Identify and state four factors affecting choice of capital structure being
discussed above. 4
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P Tl = 31 & it fvafoener™ @ st vy it v hH 7 | 98 A0S YaEA & A
T I ek GRT TATIUT B |8 WU ikl o4’ H ITANT H AT =T8T o7 | I8 Tl
T o Teh 9T o &9 H 7, 158 37 Iy eATle TUH T&T AT | 6

TSR AN UTET o SR H §8d 9<id & 31d: 98 Hehishd el Hiel, NI,
faferat, & qTd, wefie STl o1 ST T TET AT | 3L AT IhudT o WS w1iua
ST | THT hieh I8 A hael AN | il i B Thel TaT Mg S, IgE qei AhH hi
7% fored wem &t O oft The W8T 37 39 JehR SATIR <l 0T §1g TS |

T AT 39 91d | fovars T@ar o1 foh HIrerdr Sl §gH o Tt hadt T qa9s
fafer 2t 8 | freeh aftomreasy 354 sritg 1 firet i, WH1ed S IhM U1 68 AR
T 1 g fafeat faewfaa 6 | SHe &7 339 o1 Teshi i TqfE 1 SAfeka T,
ST 3 WTH R fom |

T had 319 HR DI HAUY T G HET HRGHT UG HICTargEsh 370 HTET H1
fsare % & fore ‘it S’ frarfira wa @ wfdreor v foemma wmt o faf=ifoa ot 3
Tfeh HUATIT <l HTELIH TH TH I & ARSI AT S Th | ‘bl sq’ fovamd
Sl 2 foh et At s IeaTed ST 3R 3T 31 1iid T | 39 HE T
HURT ST % fore srfureran wrEigwerar wd T gifeaa 2t |

Swrh feufa § wih dig’ grRT STET # AT U At Yeken % fagat wa
bt Iohl TR TShTST STeAT TR 8 | UF Topel) Ueh firgT=a wal @ aeheienl shl THETST |
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31. (a) Explain the following types of plans : 6
(1) Strategy
(i1) Method
(i11) Budget
OR
(b) Explain the following limitations of planning function of management : 6

(i) Planning may not work in a dynamic environment.
(i1) Planning leads to rigidity.

(i11) Planning is time consuming.

32. Ankur Sachdeva did his MBA from ITB University. He decided to apply
his knowledge of scientific management in the fast food restaurant chain
‘Coffee Bean’ set up by him. This restaurant was providing burgers, fries,
shakes etc. as a part of its menu. 6

Now a days people are quality conscious, so he was using
standardised raw materials, processes, methods, working conditions,
machinery etc. The objective was to establish standards of excellence. By
doing this he was not only able to reduce the cost but was also able to
provide new varieties of burgers, fries and shakes leading to increased
turnover.

Ankur Sachdeva also believed that there was only one best method
to maximise efficiency. As a result he developed best way of grilling
burgers, cooking fries and preparing shakes. His main objective was to
maximise the satisfaction of customers, which he was able to achieve.

Not only to learn the best way of doing a job, but to perform their
tasks efficiently, ‘Coffee Bean’ regularly invests in training and
development programmes to equip employees with the necessary skill and
knowledge. ‘Coffee Bean’ believed that efficient employees will produce
more and earn more. This will ensure their greatest efficiency and
prosperity for both company and workers.

The above case highlights the use of Scientific principles and
techniques by ‘Coffee Bean’. Explain any one such principle and two
techniques.

66/4/1/R4PSQ/21 Page 21 P.T.0.



@2 collegebatch con

EGm
et

33. (a) faom % Frffaa i o e ;- 6
() fogom fresE
(i) wfoen
(iil) Hea fgRo
JAYA
(b) Tada Ty & axdi & w9 1 “fagmo’, “fosra gae’ wg ‘59 Teeh ! BHERY | 6

w
L

T 7 Y TE T ST GET b 1 = TS TS TR TR | Fffeh 3qeh STferanaii i
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(a) Tfd g 3T ™ & LTI W AH higd A 3T 3104 AT ! IH H 5
foTu 3T | TS 718 eeuH <) STIUTROT Bl g |

(b) ST (a) H TGEHI 7T STALRN < HEw o fohg| Uidl f9=g3] ! THEAST |
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33. (a) Explain the following functions of marketing : 6

(1) Marketing Planning

(i1) Branding

(111) Pricing

OR
(b) Explain ‘Advertising’, ‘Sales Promotion’ and ‘Public Relations’ as

elements of promotion mix. 6

34. Preeti started her own cooking channel on Youtube ‘Mood Art’. As her

subscribers increased, she was not in a position to manage everything on
her own. She hired Rahul and Riya to help her with filming, editing,
lighting and content research. She granted authority to them to operate
within prescribed limits. She was thus, able to use her time on high
priority activities like developing new recipes and content development
etc. As a result, Rahul and Riya were given opportunities to develop and
exercise initiative. Preeti was now able to focus on objectives and meet the
target of achieving a subscriber base of one million in six months.

(a) Identify the concept of management used by Preeti to focus on
objectives of her business and meet her targets.

(b) Explain any five point of importance of the concept identified in (a)
above. 6
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